[ Efficiency vs vertpos |
- 05

20.45

g
2 04

||}-||||

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_baseline_lowPT

Efficienq —— pQm_mkFit_baselinesiter_lowPT

N 0.5
2 0.45F------ peees
2] . N
> 0.4F i :
2 . 3
2 : :
§0.35F ek :
0.3 (ERERPE G- |-
0.25F------ : :
0.2F -+
0.15F------ :
0.0
0.05F -+
e

ettici

Ratio
N

10 20 30
TP vert z (cm)

o

15

o

o

|

O !
[

=

o

o

[ Efficiency vs. sim PV z |

~ 0.5
>
D—_0.45
€
D 0.4
£0.35
&
c 0.3
[
3]
£0.25
0.2
0.15
0.1
0.05
g+
T
@
[ i S (AR ERAE AR AR IR A

+|

0®5=15C10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


